JIG SUPPORT JACKS

JITYIR—bI vy

(ErON’

No.E-185

545C

REIE E==2do))

ORIVICKUN—R([CEELCHERATEEI . EEE( VT

BEAHRC30+5

W= E)ICEELTERTERT,
BENBURBWVEE AT TS50 P34 VRSB
FRDEEHNTT,
OIS VTYR—IIryFATIVFAVIHATEFT,

J LL|
oB
o
( I
<
@)
)
Wi - flifgR
#+—9—No. No. A B:C:D:E  F G HuB [Gid=)) JGEE)  WEEKN . EEkg | {8
26812 | JSJ110-12 | 90~110: 32 158 122 1 10: 27 18 :M12X1.75 M16X2 ‘M12x1.75 11 0.47 | 6,750
26813 | JSJ150-12 [130~150: 32 : 78 : 22 : 10 : 27 - 18 :M12X1.75 M16X2 :M12X1.75: 11 0.6 | 7,300
26814 | JSJ110-16 | 90~110: 32 : 58 : 22 : 10 27 : 26 :M12X1.75: M16X2 M16X2 11 0.47 | 5,800
26815 | JSJ150-16 |130~150: 32 : 78 : 22 : 10 : 27 : 26 :M12X1.75: M16X2 :M16X2 11 : 06 |6,350
EZE0] msER—y
| A VT TSI FI34A VRS | IFVTHR—NIoyFR7IYFAIN
/. I
ZHERESU—X P17 »
R—LR—IT CAD F—9DI U VO—REEERRNTEF I,

FEHR—2




	F214M_0213

